Grade 8 Mathematics
Unit 8 PRACTICE Assignment
Name:

PART A: Multiple choice. Place the letter of the best answer in the box below. (1 mark each)

1. What is the top view of the object?

A [
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D. || Front View

2. Which represents the top view of the object?
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3. Which would be the top view of the structure shown below?
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4. Which represents the right side view of the object shown?
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5. What is the front view after the object is rotated horizontally 90°clockwise about the axis shown?

EsER\
pisly

A axis of rotation

Front View

oA




6. Which is the left side view of the object after it has been rotated 180° horizontally about the
vertical axis shown?

Axis of Rotation

Front

7. Which is the right side view of the object in #6 after it has been rotated 90° ccw horizontally
about the vertical axis shown?




8. What transformation forms this tessellation?

A. Dilatation
B. Reflection

D. Translation

9. Jenny got a chart from her teacher that listed the interior angles for some regular polygons.

Regular polygon Size of interior angles
Equilateral triangle (3) 60°

Square (4) 90°

Pentagon (5) 108°

Hexagon (6) 120°

Octagon (8) 135°

Dodecagon (12) 150°

Jenny wanted to use a dodecagon in a tessellation, and wondered which of the other
polygons listed she could use (in any combination) to make this possible.

A) The square only
B) The equil i only
The square with the hexagony (§9 +90 + \20 - .%600

D) Two pentagons

10. Which statement is true?
A) There can be gaps in a tessellation, as long as there is a pattern in the gaps.

ou can only use reflections to create a tessellation.
C) The sum of the angles at a vertices must be 360° )

D) Regular octagons can tessellate.




PART B Constructed Response.

1. Match the front, right, left and top views to the lettered views below. [4 marks]
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Front = F Right = G Left = C Top = D

2. Draw the front, left, right, and top views of the object. [5 marks]
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3. Draw the front, left, right, and top views of the object after a 180°rotation about the axis shown.
[5 marks]
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4. In the design below, describe each transformation.  [4 marks]

Shape D is the image of Shape C reflg;k'.gn or [Qla.\-io.r\ ’ : ’

. A| B
Shape G is the image of Shape A '\'TQV\S\ 0." Ion e * 1
C
Shape Cis the image of Shape E I 0\ &*( 0N . _
F
Shape A is the image of Shape B ]Eﬂgﬂio!; or fotation E




5. Use the four views to determine how many linking cubes it will take to create the object. [2 marks]
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6. Use two of the shapes below to form a composite shape that will tessellate. Create a tessellation
using this composite shape that nearly fills the grid below. [3 marks]
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7. Which of the flowing diagrams will tessellate? Circle yes or no and show your workings on the table
below. [6 marks]

Object A Object B Object C@M
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